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EDUCATION
( Major )
Paper : 5.5
{ Statistics in Education )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Fill in the blanks / Answer the following :
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(a) The measure of variability independent
of frequencies of the given distribution
is i
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(b) The value of coefficient of correlation of
two variables varies between and
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In normal distribution, mean and +lg
includes % of total scores.

mﬁas RS o w1 +10-9 P fE
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If mean is less than median, the
distribution is — skewed.
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A student ranks 6th in a class of
40 students. Find out the PR of the
student in the class.

BT 40 T TS (e o TR T T S
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In a class of 19 students, 8 students
has failed in an examination. The marks
of the successful students are 4. 57,
61, 48,56, 62,75, 82. 72, 68 and 64.
Find out median mark of the class,
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(= 41, 57, 61, 48, 56, 62, 75, 82, 75,
68 F 64. mﬁrﬁawsxwﬁqgw,

Why is histogram called continuous bar
graph?
STESCEEF o1 Sfifven melba 3 Ry = 9

( Continued )

2. Answer the following questions :

(3)

o PR Teq fordl

(@)

(b)

()

(@)
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Mention two advantages of frequency
distribution table.

e Rerem e 701 R BeEy F911

Distinguish between product-moment
correlation and rank-difference correla-

tion.
A TE-ET DR I TH-HL TS
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In Group (A), N=40, M=20 and
SD=10 and in Group (B), N=60,
M= 10 and SD = 5. Find out combined

SD of Group (A) and (B).

(A) '@ N =40, M =20 ¥ SD = 10, &®
(B)w1® N =60, M =10 9& SD = 5. 7 (A)
€ (B) ge @ ii@“l% g 11 1

Write two important properties of a

normal probability curve.

e fFoge qa o1 S99 @1 T @Y
forn o

( Turn Over )

2x4=8



(a9

3. Answer any three of the following questions :

5x3=15
@Sl PIERE {1 e feoiom Teq foye
(@) What is meant by statistics? What are

(b)

(c)
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the limitations of statistical measure-
ment? 2+3=5

R Rem FeE & @ el
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What is standard deviation? Why is

standard deviation regarded superior to

other measures of variability? Explain.
2+3=5

e fpfe for Rpfer smmn caemzele
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What is meant by percentile point and
percentile  rank? Illustrate their
difference with examples. 2+3=5
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( Continued )

(S)

(d) What is correlation? Ranking of

A
B
(e)
0
8A/227

10 students in two subjects A and B are
as follows :

soorgm 2 10 o9 292 fag A 91 B-© e
1 EPTR ©eTo il 49 :
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Find out coefficient of correlation
between the marks of the subjects A
and B by rank-difference method.  1+4=5

FE- 149 afers RE A SF BI ATTEE
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Mention two advantages of graphical
presentation of data. How does a
histogram differ from a polygon?
Explain. 2+3=5
Efbaa MTacd O “ReEE 701 R Ty
T4 @G0 ITSER A9 9O EerEd e
923 7 I 1 |

Explain the concept of Kurtosis by
drawing different types of Kurtosis.
Explain the nature of a curve with

Ku = 0-563. 4+1=5
fafen aore g7 999 foa o =R F3% 799
{I<EICHT T 1 | Ku = 0-563 & 9T 44
o3 = 41 |

{ Turn Over )



8A/227

(6)

4. What is mean? Find out mean of the

following distribution by ‘assumed mean
method’ : 2+8=10
T 162 e T @’ TR SfFR o[ 5w
foiefg a1 -

Class Interval Frequency
19 FFT= BIEEIER
55-59 4
50-54 : 8
4549 ; 10
40-44 ! 12
35-39 | i
30-34 8
2529 ! 6
2024 [ 3
15-19 ’ 2
‘ N =60
Or / 5231
What is quartile deviation? Find oyt quartile
deviation from the following table - 2+8=10

vde Rpfes 67 TR OfRR o[ e
foefa <1 & ﬁ]g'fﬁ

Class Interval J‘ Frequency
CNIGTT | IR
90-99 i 4
80-89 3 7
70-79 I 9
60-69 i 12
50-59 | 4
40-49 I 10
30-39 ! 9
20-29 ‘ 5
SRR (SO [ il | |

( Continued )

(7))

5. What 1is product-moment correlation?

Calculate coefficient of correlation from the

following data by this method : 2+8=10
A’TF-ERTD FDTA 7 T SR [l @
AL T GRS Al T4
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10 12 15 11 ISR S 2D RSP G2 8

Or / 53471

In an examination, mean marks scored by
400 students is 45 with a standard deviation
of 15. Assuming the distribution to be
normal, find out the following : 5+5=10

(@) The number of students securing marks
between 30 and 60

(b) The limits of the marks of middle 50% of
the student

9B ~AFS 400 TER AS I TI M6 (2 45
I T [pife tacr 15. Regasm qeifis 3f «f[is
were frarTgz fefy <=

(@) 30 W% 60 F AES T4 (A€ =G F33]

(b) CTEER 50% =@q 597 1
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6. Draw an ogive from the following distribution

table and find out median from it : 8+2=10
o feqe Oifer@ /[T bl SRS ST T
YR /71 N4 g 4T

[ Class f;rerval . Frequency

‘ ) <EarE LERIEE]

. 60-64 3

5 55-59 5

{ 50-54 4

f 45-49 6

E 40-44 8

l 35-39 10

|‘ 30-34 6

] 25-29 7

& 20-24 1

l N =50

Or / 5251
What is skewness? Test the skewness of the
above distribution. 2+8=10
et f 7 87T oo™ [RaTer “[m w1 |
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